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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

Answers may be written either in English or Hindi;

2.
but the same medium should be used throughout the
paper.

=E @ fog Adw

| T T B e B IR R T PR e e gy
FgehATen T | '

2~ 0 I S A T v v ¥ iy e
wgﬁﬁmmﬁﬁmml '

P.To.




780 2

1. (a) Bricfly explain the “uses of private savings” in

(4)

the economy.

(b) A bond promises to pay 600 in one year

(i) What is the interest rate on the bond if its

price today is 4007

(ii) If interest rate is 10%, what would be the

price of bond today? - (4)

(c) Using IS-LM model, show the impact of investment
subsidy to the economy. How will it affect
interest rate, income & investment in the economy?

How is it different from expansionary fiscal

policy? (7
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2. (a) Given the following informatiOh o | (5)
Investrheht'(l). | = 50
Government Purchases (G) = 40
GNP = 500
CA Balance | - e 20
Tax (T) = 100
Transfer Payment (TR) | A . | 30
Interest Payment on govemmcnt deBt = 20
Net Factor payments from abrogaq s s
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Compute :
(i) GDP
.(ii) Net Export
(111) Consumption
(iv) Private Savings
(V) "Government Savings

(b) “Seigniorage is first an increasing function then a

minal money growth

4)

- decreasing function of no

Do you agree? Explain.

(c) What is full employment budget su’rplus‘7 How is |

it different from actual employment budget

decrease in MPC affect the
(4)

surplus? How does a

budget surplus?

(d) “An increase in Government spending by $10 leads

to fall in the budget surplus exactly by $107, 18
(2)

this statement is true or false. Explain.




w——wwwv. SRS P S IRl SRR L . L P 1 S8 o
R S AR

780
5

(37) =R ST @ dwd §Y

Raw (1) >0

W W (G) 0

SR (GNP) oes

T @AY = e

= () = 100

AR YA (TR) = 30

WE FO W S S -5 20
fRy ¥ g@ wNw WA = -5

UL S

(i)<ma}qsm_
(i) g Fafa
) (iii) STHE

() | “Sgigniorage g8l Ueh 9gal &3 &y %ﬁ,—(w ‘c'Fl'
gfe 1 e A" H I T 7wy

P.T.O.



VS

780 6
(@) Tt IR awe Afdw w27 A AEEE A5

Tl AT A fra waR B 27 TadE ¥ w4 Feie
B N e e BT

(z) “wxmd @d A $10 A gfE ¥ Fwc AfRem F s10

FHR A 27, A& FHUT GO B A1 AT B FHHSA

(a) India issues 10,000 cr. debt forgiveness to one of
its neighbouring country. How is this transaction

accounted for in the balance of payments of India.

- (3)

(b) How does hyperinflation affect economic activity

of a country? . , , » (5)

(c) What do yoﬁ understand by Policy mix? In an
~ economy, illustrate the effects of a policy mix on
equilibrium output and interest rate. How the
~monetary accommodation of fiscal expansion

leaves the interest rate unchanged as the level of

output rises? Explain. . : (7)
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4. (a) What is GDP deflator? How is it different from
CPI deflator? How does CPI inflation overstate

the cost of living? :
4)

(b) What is the demand for Central bank mopeyo
ey
Using appropriate diagram explaj ‘
ate diagram explain the equili..:
I the L(]ulllbl'lum
in the market for central bank
al bank money. PHawe
Y. How doeg

a decrecase in the supply of centry) bank
4K money

(5)

d affect its equilibrium?
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(¢) Given: C=08(1-1) Y
t = 0.25
I = 900 —20i
G = 800

L = 0.25Y - 501

M/P = 500
Find

(i) Find equilibrium level of income &

Consumption.
(ii) Calculate budget surplus af equilibrium.

(ili) If govt. spending increases by 200 how
much would be the new level of»private

spending. . (6)
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C=0.8(1-t) Y
t=0.25
I — 900 — 20i

G =800
L = 0.25Y-501

M/P = 500
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5. (a) Consider an economy whose real GDP is 5000 in
time period 1 and 6000 in time period 2. The GDP

deflator for the same economy is 105 in time period

1 and 120 in time period 2.

(i) What is the nominal GDP in time period 1

and 2?

(ii) What is the rate of inflation in time period

27

(i) If the real rate of interest in time period 2
is 4%, what is the nominal rate of interest

in time period 27 (3)

(b) Why is central Bank money is also called High
Powered Money? Explain using the concept of
multiplier. Assuming that money multiplier is 7 and

overall supply of money is 35000, what will be the

central bank money? (5)

(c) Explain the relationship between effectiveness of

monetary policy & interest elasticity of money

demand using diagram. e, *
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, with
(d) Assume a model of the expenditurc scctor W

: : -fined
no govt sector. If the savings function 15 defin

; tment
as S =—400 + 0.2y, and the aqutonomous Inves

umption

3)

increases by 200, by how much will €013

increases?
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(a) Differentia'te between intermediate: and fina
goods. Under which category are Capital Good

and inventory investment included and why?

©

(b) Suppose that money demand is given by M? =
(0.25-i) where income is 100 cr. And supply ¢
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money is 20 cr. Assume cquilibrium in moncy

market

(1) What is the interest rate?

(1) If central bank incrcascs interest rat by

5%, what should be the [evel of moncy

supply for the money market to be in
| )

equilibrium.

(c) Examine the impact of a contractionary fiscal

policy on output & interest rate under two

‘assumptions: :
(i) Interest rates are kept constant
(i1) Money stock is kept constént (7)
(37) qead 3 aﬁwma‘?%ﬂaml a%ﬁawﬁga
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7. (a) A factory owner purcha'se_d 5 new machines at
Rs. 30,000 each. He sold. his old ones for

Rs. 60,000. What is the net impact of these

transaction on GDP? 2)

(b) What determine output and employment in the
classical system? What role does the aggregate‘ |

- demand have in determining output, eniployment

(7)

and price level?
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(¢) BExplain
\ how cach of the following events affecl

moncetary base moncy

, moncy multiplicr and
supply.

(1) Central bank follows CXP“”S""“"'Y open

market operations.

(i) 1f there is an increase in the amount of
‘money that people hold as currency rather

than deposits. (6)
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